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QUESTION 1

A developer is modifying an existing Java EE application that uses the JDBC API to access a database. This code must
be used but cannot be changed, and new code needs to be added that uses the Java Persistence API. Both parts of the
code will execute in the same JTA transaction. Which method of the EntityManager interface should the new code use
to ensure that the data read by JDBC statements includes the state of managed entities?

A. Call refresh on eachchangedentity.

B. Callflushatthe end of each business method.

C. Call find before accessing any managed entity.

D. Calllockatthe beginning of each business method.

Correct Answer: B

QUESTION 2

Which two are programming restrictions in the EJB 3.0 specification? (Choose two.)
A. An enterprisebean must NOTattempttoloadanative library.

B. An enterprise bean must NOT declare static fieldsasfinal.

C. An enterprisebeanmust NOTattemptto createa newsecurity manager.

D. An enterprise bean mustNOTpropagate a RuntimeExceptiontothe container.

E. An enterprise bean must NOTattemptto obtain ajavax.naming. InitialContext.

Correct Answer: AC

QUESTION 3

Giventhefollowing statements about an EJB deploymentdescriptor for whichthe metadatacomplete attribute is not
specified:

I. The EJB deployment descriptor can provide additional metadata to bean class annotations.
Il. The EJB deployment descriptor can partially override bean class annotations.

Ill. The EJB deployment descriptor can entirely override bean class annotations.

Which is true?

A. Onlystatementl is correct.

B. Only statementllis correct.

C. Only statement Il is correct.
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D. Both statementsland Il are correct.
E. Both statementslandlllare correct.

Correct Answer: D

QUESTION 4

A developer creates a stateless session bean. This session bean needs data from a remote system. Reading this data
takes a long time. Assume that the data will NOT change during the lifetime of the bean and that the information to
connect to the remote system is defined in INDI. Which statement describes how to manage the data correctly?

A. Readthe datain the bean\\'s constructor.

B. The datacan only bereadinthebean\\'s business methods.

C. Read thedatain a method which is annotated with@PrePassivate.

D. Read the data in a method which is annotated with @Post Activate.

E. Readthedata ina methodwhich is annotated with (5)PostConstruct.

Correct Answer: E

QUESTION 5
A developer wants to achieve the following two behaviors:
1)

If a client calls a business method without a transaction context, the container will invoke the bean in an unspecified
transaction context.

()

If a client calls a business method with a transaction context, the container will suspend the association of the
transaction context with the current thread before invoking the enterprise bean\\'s business method.

Which transaction attribute should be used?
A. NEVER

B. REQUIRED

C. SUPPORTS

D. NOT SUPPORTED

Correct Answer: D
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